ERIE COUNTY WATER AUTHORITY AUTHORIZATION FORM

For Approval/Execution of Documents (check which apply)

Contract: GP-009 Project No.: 2020000 Project Description: Water System Improvements, Upgrades on George Town of Cheektowaga								
Item Description: Agreement Professional Service Contract Amendment BCD NYSDOT Agreement X Contract Document X Recommendation for Award of Contract Recommendation Request for Proposals Other								
Action Requested: Board Authorization to Execute X Legal Approval X Board Authorization to Award Execution by the Chairman Board Authorization to Advertise for Bids Execution by the Secretary to the Authority Board Authorization to Solicit Request for Proposals Other								
Approvals Needed: APPROVED AS TO CONTENT: X Sr. Distribution Engineer X Chief Operating Officer X Executive Engineer X Director of Administration X Risk Manager X Chief Financial Officer X Legal APPROVED FOR BOARD RESOLUTION: X Secretary to the Authority	Date: 4/20/2021 Date: 4/20/2021 Date: 04/21/2021 Date: 04/20/2021 Date: 04/20/2021 Date: 04/20/2021 Date: 04/20/2021 Date: 04/21/2021 Date: 04/21/2021							
Remarks: _Unit price contract.								
Resolution Date: Item No:								

ERIE COUNTY WATER AUTHORITY



INTEROFFICE MEMORANDUM

April 17, 2021

To: Terrence D. McCracken, Secretary to the Authority

From: Michael J. Quinn, Senior Distribution Engineer

Subject: Contract No. GP-009

Water System Improvements

Upgrades on George Urban Boulevard, Town of Cheektowaga

ECWA Project No. 202000079

On Tuesday, March 9, 2021, the Authority received four (4) bids for the above referenced contract. The Consultant has reviewed the bids, a mathematical check has been performed, and the apparent lowest responsible bidder is DJM Contracting, Inc. (DJM). A mathematical error made by CMH Company, Inc. did not preclude DJM from being the apparent low bidder. Enclosed please find a copy of the letter of recommendation from the Consultant, Greenman-Pedersen, Inc., as well as the bid tabulation sheet for your use and information.

DJM is a contractor who has performed similar work for ECWA and various municipalities and agencies in Western New York in an acceptable manner. They have good understanding of the scope and requirements for this contract. The Engineer's estimate for the contract was \$2,702,735.00 and the bid by DJM is \$2,675,720.00.

DJM has provided adequate WMBE documentation, approved by Director of EEO (ECWA), insurance, approved by Claims Representative/Risk Manager, and proof of apprenticeship program, approved by Coordinator of Employee Relations.

We, therefore, recommend award of Contract, GP-009 to DJM Contracting, Inc. in the amount of \$2,675,720.00, subject to legal review.

Budget Information:

Unit: 2590 Eng/Const Distribution Mains

Acct: 107300 101531 GP-009 Waterline Replacement

Attached please find the following documents:

- 1. ECWA Authorization Form.
- 2. ECWA Recommendation for Award of Contract form.
- 3. Letter of recommendation from Greenman-Pedersen, Inc. dated March 12, 2021.
- 4. Bid Tabulation.

MJQ:jmf Attachments cc: L.Kowalski S.Denzler L.Lester

CONT-GP-009-2001-X-12



March 12, 2021

Erie County Water Authority 3030 Union Road Buffalo, NY 14227

Attn: Leonard F. Kowalski, P.E. – Executive Engineer

RE: **Review of Bids and Recommendation of Award**

Erie County Water Authority

Contract No. GP-009

Water System Improvements – Upgrades On George Urban Blvd., Town of Cheektowaga, NY

ECWA Project No. 202000079 GPI Project No. WNY-2020036.00

Dear Mr. Kowalski:

On March 9, 2021 Erie County Water Authority received a total of four (4) bids for the above referenced project, as follows:

Name of Company Submitting Bid **Total Bid Amount** DJM Contracting, Inc. \$ 2,675,720.00

E&R General Construction, Inc. \$ 2,687,435.00

\$ 2,696,705.00 (Corrected Bid Amount -CMH Company, Inc.

See Review Comments Below)

4th Generation Construction, Inc. \$ 3.355.925.00

For comparison purposes, the Engineer's Estimate for the contract was \$2,702,735.00.

GPI prepared a Bid Tabulation (enclosed herewith), performed a mathematical check, reviewed said bids, and offers the following comments:

- 1: DJM Contracting, Inc. Is the apparent low bidder. The bid received in the amount of \$2,675,720.00 was found to be mathematically correct (as shown on the enclosed Bid Tabulation). The bid appears to be complete except for some information missing from Section 00450 - Bidder's Qualification Statement page 00450-12, "Experience In The Installation Of Or Interconnections To Prestressed Concrete Cylinder Pipe", see attached Bid Document Information Reviewed By GPI.
- 2: E&R General Construction, Inc. Is the apparent 2nd place bidder. The bid received in the amount of \$2,687,435.00 was found to be mathematically correct (as shown on the enclosed Bid Tabulation). The bid appears to be complete except for some information missing from Section 00450 - Bidder's Qualification Statement page 00450-12, "Experience In The Installation Of Or Interconnections To Prestressed Concrete Cylinder Pipe", see attached Bid Document Information Reviewed By GPI.
- 3: CMH Company, Inc. Is the apparent 3rd place bidder. The bid received contained a unit price that was under the fixed minimum unit price stipulated. Per Specification Section 00410, Bid Forms, paragraph 3.01, L. "Bidder's Proposals received which include a unit price less than the stated minimum shall be adjusted to meet the fixed minimum unit price". As such, the corrected Total Bid Amount is

4950 Genesee Street, Suite 100 Buffalo, NY 14225 t (716) 633-4844 Greenman-Pedersen. Inc.

\$ 2,696,705.00 and not \$2,695,205.00 as indicated on the submitted Bid Form (see the enclosed Bid Tabulation). This does not change CMH Company, Inc.'s position in the Bid Rankings. In addition, some answers and requested information from the Bidders Qualification Statement appears to be incomplete / missing (as noted on the enclosed bid documents reviewed by GPI).

4: 4th Generation Construction, Inc. – Is the apparent 4th place bidder. The bid received in the amount of \$3,355,925.00 was found to be mathematically correct (as shown on the enclosed Bid Tabulation) and appears to be complete.

We talked with the apparent low bidder, Daniel J. Munich - President of DJM Contracting, Inc., to discuss their understanding of the project, and their capabilities to perform the work. Dan noted that work to be performed under Contract GP-009 appears to be very similar to the work they are wrapping up on their current ECWA Contract (which includes installation of new 12-inch Ductile Iron Pipe, a jack and bore installation and interconnections to an existing 24-inch PCCP transmission main). GPI also contacted references DJM Contracting, Inc. provided with their bid.

Based on the information available to us, it is GPI's recommendation that the Erie County Water Authority award the contract to DJM Contracting, Inc. for their Bid Amount of Two Million, Six Hundred Seventy-Five Thousand, Seven Hundred Twenty Dollars and Zero Cents (\$2,675,720.00), contingent upon Erie County Water Authority - Legal Department review and determination of a complete bid.

Please contact us if you have any questions or require any additional information.

Sincerely,

GPI/Greenman-Pedersen, Inc.

Paul C. Case, P.E., LEED AP

Sr. Civil Engineer

Enclosures: Bid Tabulation

Bid Document Information Reviewed By GPI and ECWA Legal Checklist's For:

- DJM Contracting, Inc.
- E&R General Construction, Inc.
- CMH Company, Inc.
- 4th Generation Construction, Inc.

ERIE COUNTY WATER AUTHORITY RECOMMENDATION FOR AWARD OF CONTRACT

Contract: Project Description:	GP-009 Water System Improver Upgrades on George Ur Town of Cheektowaga		Project No.:	202000079				
CONTRACT AWAR Contractor/Supplier: Award Amount:	D DJM Contracting, Inc. \$2,675,720.00							
BID SUMMARY: Date Advertised for B			Date of Bid Openin					
DJM Contracting, E&R General Cons CMH Company, In 4th Generation Con	struction, Inc.		**	tal Bid Amount \$2,675,720.00 \$2,687,435.00 \$2,696,705.00 \$3,355,925.00				
Attachments:	X Bid Tabulation			orrected Value Recommendation				
APPROVALS (Select applicable) WMBE APPROVAL No Waiver Full Waiver Partial Waiver Partial Waiver Affirmative Action Officer Approval Approval Action Date 04/19/2021								
INSURANCE APPRO X Claims Rep/R		Molly Je	Musura	Date 04/20/21				
	PPRENTICESHIP PROG f Employee Relations _		VAL Lewkowicz	Date4/20/21				
Remarks: Unit price	e contract.							

PREPARED FOR:
ERIE COUNTY WATER AUTHORITY
Upgrades On George Urban Boulevard
Town of Cheektowaga, NY
CONTRACT GP-009
ECWA PROJECT NO. 202000079

PREPARED BY:
GREENMAN-PEDERSEN, INC.
GPI PROJ. NO. WNY-2020036.00

BY: P. CASE DATE: MARCH 10, 2021

					BID OPENING - MARCH 9, 2021									
			ı	ENGINEER'S	ESTIMATE	DJM CONTRA	CTING, INC.	E&R GENERAL CON	STRUCTION, INC.	СМН СОМРА	NY, INC.	4TH GENERATION COI	NSTRUCTION INC.	
ITEM NO.	DESCRIPTION	UNIT	CONTRACT	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	
	Furnish and Install 6 -inch DIP	LF	QUANTITY 150	PRICE \$75.00	COST \$11,250.00	PRICE \$20.00	COST \$3,000.00	PRICE \$65.00	COST \$9,750.0	PRICE \$90.00	COST \$13,500.00	PRICE \$140.00	\$21,000	
	Furnish and Install 8 -inch DIP	LF	1000	\$125.00	\$125,000.00	\$84.50	\$84,500.00	\$97.00	\$97,000.0	\$96.00	\$96,000.00	\$150.00	\$150,00	
	Furnish and Install 12 -inch DIP	LF	4700	\$225.00	\$1,057,500.00	\$101.50	\$477,050.00	\$117.00	\$549,900.0	\$110.00	\$517,000.00	\$160.00	\$752,00	
	Furnish and Install 16 -inch DIP	LF	40	\$250.00	\$10,000.00	\$170.00	\$6,800.00	\$300.00	\$12,000.0	\$250.00	\$10,000.00	\$180.00	\$7,20	
	Furnish and Install 24 -inch DIP	LF	80	\$280.00	\$22,400.00	\$200.00	\$16,000.00	\$400.00	\$32,000.0	\$300.00	\$24,000.00	\$200.00	\$16,00	
	Furnish and Install 8-inch Gate Valves	Each Each	14	\$2,000.00 \$3,500.00	\$28,000.00 \$108,500.00	\$7,200.00 \$9,700.00	\$100,800.00	\$2,200.00 \$4,500.00	\$30,800.0 \$139,500.0	0 \$1,900.00 0 \$4,000.00	\$26,600.00 \$124,000.00	\$3,000.00 \$4,000.00	\$42,00 \$124,00	
	Furnish and Install 12-inch Butterfly Valves Furnish and Install 16-inch Butterfly Valves	Each	31	\$5,000.00	\$108,500.00	\$10,900.00	\$300,700.00 \$21,800.00	\$7,800.00	\$139,500.0	0 \$4,000.00 0 \$4,000.00	\$124,000.00	\$6,000.00	\$124,00	
	Furnish and Install New Hydrant Assemblies	Each	9	\$7,500.00	\$67,500.00	\$10,000.00	\$90,000.00	\$8,500.00	\$76,500.0	\$4,200.00	\$37,800.00	\$9,000.00	\$81,00	
	Fire Hydrant Abandonments	Each	7	\$1,000.00	\$7,000.00	\$1,425.00	\$9,975.00	\$2,200.00	\$15,400.0	\$900.00	\$6,300.00	\$2,000.00	\$14,00	
	Test Pit Excavation and Backfill	Each	30	\$1,200.00	\$36,000.00	\$275.00	\$8,250.00	\$200.00	\$6,000.0	\$1,500.00	\$45,000.00	\$1,000.00	\$30,00	
	Rock Excavation	CY	100	\$150.00	\$15,000.00	\$150.00	\$15,000.00	\$150.00	\$15,000.0	\$200.00	\$20,000.00	\$150.00	\$15,00	
	Furnish and Install Select Backfill	CY	4200	\$35.00	\$147,000.00	\$32.00	\$134,400.00	\$35.00	\$147,000.0	\$36.00	\$151,200.00	\$20.00	\$84,00	
	Interconnection No. 1 - George Urban Blvd. & Harlem Road (East Side)	LS	1	\$15,000.00	\$15,000.00	\$21,500.00	\$21,500.00	\$52,000.00	\$52,000.0	\$45,000.00	\$45,000.00	\$55,000.00	\$55,00	
	Interconnection No. 2 - West Grand Blvd. & George Urban Blvd. (North Side)	LS	1	\$7,500.00	\$7,500.00	\$21,000.00	\$21,000.00	\$13,000.00	\$13,000.0	\$12,000.00	\$12,000.00	\$55,000.00	\$55,00	
	Interconnection No. 3 - Rosewood Terrace & George Urban Blvd. (North Side)	LS	1	\$7,500.00	\$7,500.00	\$22,000.00	\$22,000.00	\$13,000.00	\$13,000.0	\$12,000.00	\$12,000.00	\$55,000.00	\$55,00	
	Interconnection No. 4 - Midland Drive & George Urban Blvd. (North Side) Interconnection No. 5 - Westland Parkway & George Urban Blvd. (North Side)	LS LS	1 1	\$7,500.00 \$7,500.00	\$7,500.00 \$7,500.00	\$19,000.00 \$17,500.00	\$19,000.00 \$17,500.00	\$13,000.00 \$13,000.00	\$13,000.00 \$13,000.00	0 \$12,000.00 0 \$12,000.00	\$12,000.00 \$12,000.00	\$55,000.00 \$55,000.00	\$55,00 \$55,00	
	Interconnection No. 6 - Eastland Parkway & George Urban Blvd. (North Side)	LS	1 1	\$7,500.00	\$7,500.00	\$17,300.00	\$17,300.00	\$13,000.00	\$13,000.0	\$12,000.00 \$12,000.00	\$12,000.00	\$55,000.00	\$55,00	
	Interconnection No. 7 - Kilbourne Road & George Urban Blvd. (North Side)	LS	1 1	\$7,500.00	\$7,500.00	\$18,000.00	\$18,000.00	\$13,000.00	\$13,000.0	\$12,000.00	\$12,000.00	\$55,000.00	\$55,00	
	Interconnection No. 8 - East Grand Blvd. & George Urban Blvd. (North Side)	LS	1	\$7,500.00	\$7,500.00	\$20,000.00	\$20,000.00	\$13,000.00	\$13,000.0	\$12,000.00	\$12,000.00	\$55,000.00	\$55,0	
	Interconnection No. 9 - Lorraine Lane & George Urban Blvd. (South Side)	LS	1	\$7,500.00	\$7,500.00	\$20,000.00	\$20,000.00	\$13,000.00	\$13,000.0	\$12,000.00	\$12,000.00	\$55,000.00	\$55,0	
	Interconnection No. 10 - Andres Place & George Urban Blvd. (North Side)	LS	1	\$7,500.00	\$7,500.00	\$20,000.00	\$20,000.00	\$13,000.00	\$13,000.0	\$12,000.00	\$12,000.00	\$55,000.00	\$55,0	
	Interconnection No. 11 - Mildred Drive & George Urban Blvd. (North Side)	LS	1	\$7,500.00	\$7,500.00	\$20,000.00	\$20,000.00	\$13,000.00	\$13,000.0	\$12,000.00	\$12,000.00	\$55,000.00	\$55,0	
	Interconnection No. 12 - Toelsin Road & George Urban Blvd. (North Side)	LS	1 1	\$7,500.00	\$7,500.00	\$18,000.00	\$18,000.00	\$13,000.00	\$13,000.0	\$12,000.00	\$12,000.00	\$55,000.00	\$55,0	
	Interconnection No. 13 - McNaughton Avenue & George Urban Blvd. (South Side) Interconnection No. 14 - Wheaton Drive & George Urban Blvd. (North Side)	LS LS	1 1	\$7,500.00 \$7,500.00	\$7,500.00 \$7,500.00	\$15,000.00 \$17,000.00	\$15,000.00 \$17,000.00	\$13,000.00 \$13,000.00	\$13,000.00 \$13,000.00	\$12,000.00 \$12,000.00	\$12,000.00 \$12,000.00	\$55,000.00 \$55,000.00	\$55,0 \$55,0	
	Interconnection No. 15 - East Grand Blvd. & George Urban Blvd. (Southwest Side)	LS	1 1	\$20,000.00	\$20,000.00	\$76,000.00	\$76,000.00	\$43,000.00	\$43,000.0	\$12,000.00	\$12,000.00	\$65,000.00	\$65,0	
	Interconnection No. 16 - Lorraine Lane & George Urban Blvd. (Southwest Side)	LS	1	\$20,000.00	\$20,000.00	\$73,000.00	\$73,000.00	\$43,000.00	\$43,000.0	\$12,000.00	\$12,000.00	\$65,000.00	\$65,00	
	Interconnection No. 17 - Cherokee Drive & George Urban Blvd. (North Side)	LS	1	\$7,500.00	\$7,500.00	\$20,000.00	\$20,000.00	\$13,000.00	\$13,000.0	\$12,000.00	\$12,000.00	\$55,000.00	\$55,00	
	Interconnection No. 18 - George Urban Blvd. @ Union Road (West Side)	LS	1	\$15,000.00	\$15,000.00	\$35,800.00	\$35,800.00	\$65,000.00	\$65,000.0	\$55,000.00	\$55,000.00	\$55,000.00	\$55,00	
	Service Replacement/Installations 3/4 inch to 1-inch	Each	80	\$2,750.00	\$220,000.00	\$1,925.00	\$154,000.00	\$2,900.00	\$232,000.0	\$2,000.00	\$160,000.00	\$2,000.00	\$160,00	
	Service Replacement/Installations 1 -1/2 inch and Larger	Each	4	\$3,000.00	\$12,000.00	\$4,000.00	\$16,000.00	\$3,200.00	\$12,800.0	\$3,000.00	\$12,000.00	\$4,000.00	\$16,00	
	Furnish and Install 3/4 inch to 1 inch Additional Copper tubing	LF	2500	\$5.00	\$12,500.00	\$5.00	\$12,500.00	\$10.00	\$25,000.0	0 \$25.00	\$62,500.00	\$20.00	\$50,00	
	Furnish and Install 1 -1/2 inch and Larger Additional Copper tubing	LF	100	\$25.00	\$2,500.00	\$10.00	\$1,000.00	\$12.00	\$1,200.0	\$32.00	\$3,200.00	\$40.00	\$4,00	
	Furnish and Install Casing Pipe - 18" Diameter	LF	26	\$300.00	\$7,800.00	\$110.00	\$2,860.00	\$400.00	\$10,400.0	\$650.00	\$16,900.00	\$100.00	\$2,60	
	Furnish and Install Casing Pipe - 24" Diameter Furnish and Install Casing Pipe - 24" Diameter (Under Ex. 13'x13' Concrete Box Culvert)	LF LF	52 60	\$350.00 \$1,000.00	\$18,200.00 \$60,000.00	\$160.00 \$2,200.00	\$8,320.00 \$132,000.00	\$500.00 \$980.00	\$26,000.00 \$58,800.00	0 \$800.00 0 \$1,000.00	\$41,600.00 \$60,000.00	\$150.00 \$1,500.00	\$7,80 \$90,00	
	Abandonment No. 1 - George Urban Blvd. & Harlem Road (Northeast Side)	LS	1	\$15,000.00	\$15,000.00	\$14,000.00	\$14,000.00	\$15,000.00	\$15,000.0	0 \$14,000.00	\$14,000.00	\$20,000.00	\$20,00	
	Abandonment No. 2- Cherokee Drive & George Urban Blvd. (North Side)	LS	1 1	\$7,500.00	\$7,500.00	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.0	\$10,000.00	\$10,000.00	\$20,000.00	\$20,00	
	Abandonment No. 3- George Urban Blvd. & Union Road (Northwest Side)	LS	1	\$15,000.00	\$15,000.00	\$7,000.00	\$7,000.00	\$18,000.00	\$18,000.0	\$15,000.00	\$15,000.00	\$20,000.00	\$20,00	
1	Furnish and Install Concrete Sidewalk	SY	1200	\$50.00	\$60,000.00	\$50.00	\$60,000.00	\$60.00	\$72,000.0	\$75.00	\$90,000.00	\$70.00	\$84,00	
2	Furnish and Install Concrete Driveway	SY	300	\$75.00	\$22,500.00	\$75.00	\$22,500.00	\$85.00	\$25,500.0	\$95.00	\$28,500.00	\$90.00	\$27,00	
4	Furnish and Install Concrete Gutter	LF	600	\$75.00	\$45,000.00	\$75.00	\$45,000.00	\$75.00	\$45,000.0	95.00	\$57,000.00	\$75.00	\$45,00	
2	Furnish and Install Asphalt Driveway	SY	75	\$75.00	\$5,625.00	\$75.00	\$5,625.00	\$75.00	\$5,625.0	\$75.00	\$5,625.00	\$75.00	\$5,62	
3	Furnish and Install Asphalt Pavement Top Course (1-1/2" depth)	SY	15000	\$7.50 \$5.00	\$112,500.00 \$13,000.00	\$8.50	\$127,500.00	\$10.00	\$150,000.0	\$16.00	\$240,000.00	\$7.00	\$105,00	
<u>4</u> 5	Furnish and Install Asphalt Pavement Binder Course (2" depth) Furnish and Install Asphalt Pavement Base Course (4" depth)	SY SY	2600 2600	\$5.00	\$13,000.00	\$19.00 \$20.00	\$49,400.00 \$52,000.00	\$14.00 \$18.00	\$36,400.0 \$46,800.0	0 \$23.00 0 \$32.00	\$59,800.00 \$83,200.00	\$10.00 \$15.00	\$26,00 \$39,00	
6	Cold Milling of Asphalt Pavement (1-1/2" thickness)	SY	15000	\$5.00	\$75,000.00	\$3.00	\$45,000.00	\$13.00	\$195,000.0	0 \$8.00	\$120,000.00	\$5.00	\$75,00	
<u>. </u>	Landscape Restoration-Lawn	LF	1220	\$3.00	\$3,660.00	\$7.00	\$8,540.00	\$3.00	\$3,660.0	\$9.00	\$10,980.00	\$5.00	\$6,10	
2	Landscape Restoration-Tree Planting	Each	4	\$100.00	\$400.00	\$100.00	\$400.00	\$200.00	\$800.0	\$600.00	\$2,400.00	\$700.00	\$2,80	
3	Landscape Restoration-Tree Removal (less than 12-inch Diameter)	Each	2	\$100.00	\$200.00	\$100.00	\$200.00	\$200.00	\$400.0	\$1,000.00	\$2,000.00	\$500.00	\$1,0	
4	Landscape Restoration-Tree Removal (greater than 12-inch Diameter)	Each	2	\$100.00	\$200.00	\$400.00	\$800.00	\$300.00	\$600.0	\$2,000.00	\$4,000.00	\$1,000.00	\$2,00	
	Testing and Disinfection	LF	6000	\$3.00	\$18,000.00	\$3.00	\$18,000.00	\$3.00	\$18,000.0	\$5.00	\$30,000.00	\$3.00	\$18,0	
	Extra Excavation (8-10 feet Deep)	LF	400	\$10.00	\$4,000.00	\$10.00	\$4,000.00	\$10.00	\$4,000.0	\$42.00	\$16,800.00	\$10.00	\$4,0	
	Extra Excavation (10-12 feet Deep)	LF	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.0		\$4,200.00	\$20.00	\$2,0	
	Extra Excavation (12-14 feet Deep) Extra Excavation (14-16 feet Deep)	LF LF	50 50	\$40.00 \$45.00	\$2,000.00 \$2,250.00	\$40.00 \$45.00	\$2,000.00 \$2,250.00	\$40.00 \$45.00	\$2,000.0 \$2,250.0	0 \$50.00 0 \$52.00	\$2,500.00 \$2,600.00	\$40.00 \$50.00	\$2,00 \$2,50	
	Extra Excavation (14-16 feet Deep) Extra Excavation (16-18 feet Deep)	LF LF	50	\$45.00	\$2,250.00	\$45.00 \$50.00	\$2,500.00	\$45.00	\$2,500.0	\$52.00 \$60.00	\$2,600.00	\$60.00	\$2,5	
	Extra Excavation (18-22 feet Deep)	LF	50	\$125.00	\$6,250.00	\$125.00	\$6,250.00	\$125.00	\$6,250.0	\$70.00	\$3,500.00	\$150.00	\$7,5	
	Furnish and Install Extra Concrete	CY	100	\$100.00	\$10,000.00	\$100.00	\$10,000.00	\$100.00	\$10,000.0	\$250.00	\$25,000.00	\$160.00	\$16,0	
	Furnish and Install Flowable Fill	CY	10	\$300.00	\$3,000.00	\$300.00	\$3,000.00	\$300.00	\$3,000.0	\$300.00	\$3,000.00	\$300.00	\$3,0	
	Repair Crew Labor & Equipment	HR	40	\$150.00	\$6,000.00	\$150.00	\$6,000.00	\$200.00	\$8,000.0	\$450.00	\$18,000.00	\$600.00	\$24,0	
	Vacuum Truck & Labor	HR	40	\$125.00	\$5,000.00	\$125.00	\$5,000.00	\$150.00	\$6,000.0	<mark>0</mark> \$450.00	\$18,000.00	\$170.00	\$6,8	
	Contingency Allowance	LS	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.0	\$100,000.00	\$100,000.00	\$100,000.00	\$100,0	
		TOTAL A	MOUNTS =		\$2,702,735.00	* \$2,675,720.00 \$2,687,435.								
						MATCHES TOTAL BID AMOUNT AS INDICATED ON SUBMITTED BID FORMS		MATCHES TOTAL BID AMOUNT AS INDICATED ON SUBMITTED BID FORMS		** CORRECTED TOTAL BID AMOUNT ABOVE DIFFERS FROM AMOUNT INDICATED ON SUBMITTED BID FORMS OF \$2,695,205.00		MATCHES TOTAL BID AMOUNT AS INDICATED ON SUBMITTED BID FORMS		
						* APPARENT	LOW BID			NOTE: CMH Company, Inc.'s Bid Form reported a unit cost lower than the Fixed Minimum Unit Price of \$300.00/CY for Item 13H. Bid Tabulation indicates the Total				